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(FEM),p = 1 (FEM)py = —5-

12

Member Stiffness Factor YOS (e ) 9O

M, ZZ_E'(zeA+eB—0)+0:2—E'(2+0)=%

N\, _4E

L

Member Relative-Stiffness Factor POE (W (A ) O
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Distribution Factor (DF)  &33¢5 w4 g0

cll Moo (W) M g

2El

MAB :—(ZQA) KABH AC
MAC:KACHA I\/IAEs"'I\/IAC'|'I\/IADZI\/I
Mao = KaoOa (Kpg + Kac +Kpp)0, =M
0, = M = —

AT (K +Kae T Kpo) D K 4ED K,

K, 4E(Kp); (Kr)j

M. — i M = R /Zij R/ M
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Distribution Factor (DF) &P o 9o
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A G g5 8 9158

b st
4EI AEI 4ET
My Ty ReeT g

DF,3 = DFpc =0  DFp, = DF M 0.5

ag - mbe s AT RS 4R 12 + AEI12 T
AE1/12 4E1/8
DFCB — =04 DFCD — 0.6

AEI/12 + 4E1/8 AEI/12 + 4EI/8
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20 kN /m l
A li‘é; RERRE ;&C = I G 808
Sy
-~ 12 m ~I: 12 m—\—L—
4m 4m
owl? 20127
—250(8
(FEM)CD:_%: 8( ) = ~2UKN-m
wL?  20(12)°
FEM = — = = 240 kN -
( )cB 12 12 .
PL,  250(8

8 8




20 kN/m | [ S Gy s ]
A B \ B \ \ Yy VY ”7 \ C D
Rad il S iy gy 8 3,58
- 12m———12 m—\—\— 5 s
4m 4m
Joint A B C D 1
Member| AB BA BC CB CD DC 2
DF 0 0.5 0.5 04 0.6 0 3
FEM —240 240 —250 250 4
Dist. i’ 120 120 & 4 6 5
CO 60 2 60 3 6
Dist. —1 —1 —24 —36 7
XK X

CO —0.5 —12 —0.5 —18 8
Dist. 6 6 \ 0.2 0.3 \ 9

CO 3 0.1 3 0.2 |10
Dist. —0.05 —0.05)< —1.2 —1.8 A 11

CcO —0.02 —0.6 —(0.02 —0.9 |12
Dist. 0.3 0.3 0.01 0.01 13

>M 62.5 125.2 | —1252 | 2815 | —281.5| 2343 |14
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400 Ib 60 Ib /ft [ A gy (s ]

VoG e o .
A N — kN S iy gy 8 3,58
Iyp=500in* & . =750 in® IC. » = 600 in*f3. L i sl 5
MR ‘ >s:|~}2-
10 ft 20 ft —15 ft—‘
4E(750) 4E(600) _
KBC' — T = 150FE KCD — T = 160E
DFge =1 - (DF)gs=1—-0=1
150E
DFqp = — 0.484
B~ 150E + 160E
160E
DF,,, = — 0.516
D {50E + 160E
160E
DF — —
bC ™~ + 160E

(FEM)pg4 = 400 1b(10 ft) = 4000 Ib - ft

w2 60(20)?
FEM)pc = — = — = —2000 Ib - ft
( )BC T 5
w2  60(20)?
12 12

(FEM)¢p = — 2000 Ib - ft
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Joint B C D
Member BC CB CD DC

DF 0 1 0.484 | 0.516 0

FEM 4000 | —2000 2000

Dist. —2000 —968 | —1032

CO —484 “* —1000 —516

Dist. 484 484 516

CO 242 242 258

Dist. —242 N —117.1 | —124.9

CcCO ~58.6 —-121 —62.4

Dist. 58.6 58.6 62.4

CO 29.3 29.3 31.2

Dist. —29.3 N —142 | —151

CO -7.1 —14.6 —7.6

Dist. 7.1 7.1 7.6

CO 3.5 3.5 3.8

Dist. —-3.5 N —-1.7 —1.8 —

CO —0.8 -1.8 0.9

Dist. 0.8 0.9 0.9

CO 0.4 0.4 0.4

Dist. —0.4 N —0.2 —0.2

CO —0.1 —-0.2 —0.1

Dist. 0.1 0.1 0.1

M 4000 | —4000 | 5871 | —587.1 | —293.6

P Ry gy 99,6

Ly sl







240 1b /ft

A TN (e |
BB oo g00in L it 9 sl J
g 2B s N0
L | 15 ft ! 20 ft—‘
‘ oo Mol (i 31 00liw! (3909 2o g s
L 4E(300) _ g c < - 4El_ 4E(600) _ 100
L 15 L
oF, — 8%E__j oF, - 120E _,
o +80E 120E +80E
DE, =— 995 _g4 pF,, =129 4
80E +120E 120E
2 2
(FEM),. = WL =-8000, (FEM)g =%:8000




joint A B C

Member AB BA BC CB
DF 0 0.4 0.6 1
FEM 0 0 -8000 8000
Dist 0 ; i 3200 4800 -8000
Co 1600 0 -4000 2400
Dist 0 1600 2400 -2400
Co 800 x 0 -1200 1200

Dist 0 480 720

Dist 0 ; g 240 360

2
25

o TR 500 Z18 350
£S
25

Co 0.41 x 0 -0.6075

Dist 0 0.243 0.3645 -0.6075

> 2823.6 5647.2 -5647.2 0
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BB =600t B0 & e ol slp J

i ‘ ‘ Gy ovw THeo!
| 15 ft——| 20 ft——

ovw THo! (adew 3l ool b2 pgd g,

Kap = I3 T = 80E
3] 3E(600)

Kpec = i3 = 20 = 90F

SOE O0F

= = DFpc = = 0.5294
DFAB 00 —+ 80E 0 BC 8OE n 90E
O0F

DFpy = 0L = 0.4706 DFp = —=1

80E + 90E WE
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32,55 &2 Jlo
odw THo! dw o 9o

(FEM)pc = — g = g = —12 000 Ib - ft
Joint A B C
Member AB BA BC CB
DF 0 0.4706 0.5294 1
FEM —12 000
Dist. . 5647.2 6352.8
co | 28236°
>M 2823.6 5647.2 | —5647.2 0
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3000 kg/m [ A sy 09 ]

A olF 4S5 ol 6 (51 Jlio
e | =3000 cm’
F gy =
s } E=2.1x10° kg/cm?
Ag =2 cm

236 U 3 (b (5,10 5 s 5

ML 1000 Kkgm MCB:%zmoo kg.m

MAB :MBA:O MBC =

B ol5 4 i 3 (il (5410 5 (5o 5

M,, =M, = _?_ZEI A=-33.6 Tonm
My =My = o A=18.9 Ton.m

L2
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sl T b aliw sy, 3
33 5 (0 00! (b T g
A4ET 4E1 3ET 3ET
Kip=—— =~  Kep=—r Kep="r
AB 15 BC 18 T £ 12
2
—wl? —5(18)
FEM = = = —135k - ft
sz 5(18)2




&9 i po Ao
AEI/15 ’

= = (.54
DEga AEI/15 + 4EI/18 0545

DFge = 1-0.545 = 0.455

AEI/18

PYes = 4prngs + 361715 + 3er12 ~ Y

3EI/15

_ = (.298
bEep AEI/18 + 3EI/15 + 3EI/12 !

DF.; = 1-0.330-0.298 = 0.372
DFDC — 1 DFEC — 1
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E [ ~ : ..‘. &9) ]

Sl K G gy 09,8
W o5 > g b

20 k—

15

Joint A B C D E
Member| AB BA BC CB CD CE DC EC
DF 0 0.545 | 0.455 | 0.330 | 0.298 | 0.372 il 1

FEM —135 135
Dist. 73.6 61.41—44.6 | —40.2 | —50.2
CO 36.8 —22.3°" 30.7
Dist. 12.2 10.1 (—10.1 —9.1(-11.5
CO 6.1 —5.1 5.1
Dist. 2.8 23)‘( —-1.7 || —-15]| —-1.9
CO 1.4 —0.8 1.2
Dist. 04 O.4X —04 | —04]| —04
CO 0.2 —0.2 0.2
Dist. 0.1 0.1] —01 00| —0.1
>M 445 | 89.1 |—89.1| 115 | —-512|—-64.1




Sl ST iy gy 0 99,18 [ S iy b ]

S I 2ol
P P
- A
A~ l ____c_:i‘_ j ) " ) i
T \ I,’
/ /
/’ //l
', II — +
J I
{ I
I
" :

; »
/ :i \ [,'
II II R
/ / .
/ / o R’ \’
/ / ) |
" / M =M°+aM
/ I
Al ,’ID




16 kN ——
[ P ey ey ]
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16 kN

A D
2
(FEM) e = — 16((?)2(1) ~ —1024kN-m
2
(FEM)cp = T senem

(5)°




[ B ey 9 ]

@9 0 Jlos| Curdg 40 b )T dmwloxo 2 Jgf Al

Joint | A B C D
Member] AB | BA BC | CB | CD | DC
DF 0 0.5 0.5 0.5 0.5 0
FEM —1024 | 2.56

Dist. 512 | 5120, —1.28| —1.2

CO | 256 ~0.64”~ 2.56 8\—0.64
Dist. ,0.32 0.32)'(\—1.28 —1.2

CO 0.16” —0.6471* 0.16 —0.64
Dist. 0.32 o.szx—o.og —0.0

CO 0.16 —0.04”1* 0.16 —0.04
Dist. 0.02 | 0.02 | —0.08 —0.08

SM | 288 | 578 | =578 | 2.72 | —2.72| —1.32
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< > R J9e%0 (59 dmlino 3090 al> 50
g\ y

578 kN-m 2.72kN-m

5m 5m

2.88 kN-m 1.32 kN-m

) W Y
- .
T A, =173 kN TDX = (.81 kN

SF, =0 R=173kN — 0.81 kN = 0.92 kN
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A’ 505 1l 31 AU Gl 5K (ki 36 )l 4> 50

Joint A B C D
Member| AB | BA BC | CB | ¢D | DC
DF 0 0.5 0.5 0.5 0.5 0
FEM |—-100 [—100 —100 [—100
Dist. 50 50 50 50

CO 25 25 2 25 N 25
Dist. 125 |—-125 )(12'5 —12.5

CO | —6.25 —625 *1%6.25 —6.25
Dist. L 3.125 3'125>< 3.125| 3.12

CO 1.56" 1.56 “* 1.56 1.56
Dist. —0.78 |-0.78 X—OJ’S —0.7

CO | —03 —0.39 “[*0.39 —0.39
Dist. 0.195 0.195| 0.195| 0.193

SM | =80.00|—60.00| 60.00 | 60.00 |—60.00|—80.00




R’ Joexo G908 ot 129 4> w0 [ JUSURWE TRV Y ]

— —
KN y
60 kN-m 60 kN-m
5m 5m
|80 kN-m |80 kN -m
Y Y
< <
T A, = 28 kN TDx=28kN
SF, = 0: R =28 + 28 = 56.0 kN




Sled 10 S5 Amilro g 0L ot 3O (et 3 g A> g0 [ TPRVIPE ]

M 4p = 2.88 A 2'23( 80) = 1.57 kN -m
Mgy = 578 + 55(—60) = 479kN-m
Mpge = —5.78 + £2(60) = —4.79kN -m
Mep =272 + 25(60) = 3.71kN-m
Mcp = =272 + £5(—60) = —3.71 kN+-m
Mpe = —132 + 22(—80) = —2.63 kN-m
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Jilo slae b G313T 42 y0 Sy b6

8(10)
8(10)
(FEM)cg = T = 10k - ft
Joint A B C D
Member| AB BA BC CB CD DC
DF 1 0.429 | 0.571 | 0.571 | 0.429 1
FEM —10 10
Dist. 4.29 5.71)( —5.71| —4.29
CO —2.86 2.86
Dist. 1.23 1°63)§ —1.63| —1.23
CO —0.82 0.82
Dist. 0.35 0.47»\?‘( —047] —0.35
CO —0.24 0.24
Dist. 0.10 0.13 | —0.13| —0.10
>M 0 597 | =597 | 597 | —=5.97 0




Jilo SLae b 58157 42 y0 Sy 6

TS
(+SMpz=0: =597 + A(8) — 4(6) = 0 — 375k
(+=Me = 0 5.97 — D(8) + 4(6) = 0 — 375k
>F,. =0; R=375-375+20 =20k

8k
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o SLae b 53157 42 30 S b6

(FEM)g, = (FEM)cp = —3EIA/(10)%, (FEM)ge = (FEM)cp =
6EI(1.2A")/(10)2

(FEM),, = (FEM),, = —100k. ft

(FEM),. = (FEM),, = 240k. ft
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Jilo slae b G313T 42 y0 Sy b6

Joint | A B C D
Member| AB | BA | BC | CB | ¢D | DC
DF | 1 | 0429 | 0571 | 0571 | 0429 | 1
FEM 100 1240 1240 =100

D —60.06|=79.94..~79.94 | —60.06

CO 239.971239.97

D 1715 2282 22.82| 1715

CO 11417 1141

D ~4.89| —6.52] ~6.52| 4389

CO 2326 —3.26

Dist. 140 186! 186| 1.40
co 093~ 0.93

Dist. —0.40| =053 | =053 | —0.40

SM | 0 |—146.80 146.80 ] 146.80 [-146.800 0




Jibo slast b o 3T 4> 0 Sy 0B [ A Gy 95 ]

(+SMp=0: —AL8) +2936(6) + 14680 =0 A, = 4037k
(+SMp=0; —DL8) +29.36(6) + 14680 = 0 D, = 4037k

>F,.=0; R’ = 40.37 + 40.37 = 80.74 k
29.36 k 29.36 k
10 ft R’ 146.80 k - ft
L/ \r» V’C
—
%46-80 k-ft “1/146.80 k - ft S ft
29.36 k 29.36 k

29.36 k 29.36 k
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Jilo SLae b 58157 42 y0 Sy 6

505)(—146.80) = —30.4 k- ft
Mpc = —5.97 + (8074)(146 80) = 30.4 k - ft
Mcg =597 + (509)(146.80) = 42.3 k - ft

Mcp = =597 + (§9)(—146.80) = —423k - ft
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